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ẋ = A(t)x +B(t)u, x ∈ R
n, u ∈ R

m, t � 0. (1)

������	��	 � ����	�	 (1) �������
 � ���	 ���	
��
 �������
 ��
�� u = U(t)x � ���	����
 � �������
�	���
 ��������
 ������	
 U(t)� t � 0�  �
 ��������
 ����	��

ẋ = (A(t) +B(t)U(t))x, x ∈ R
n, t � 0, (2)
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 ������	��	� ������
�	���
 ���������
 �����!������ " ���
���� ����	�� (2)� ������
#$	�� �� ��	� ������ ������� U(t)�
t � 0� ��
 ������� %�&�XU (t, s) ���
 ����	�� ��	��	���� ������	��	 ���	����XU ((k+1)T, kT ) = Hk

��� ������������� T > 0 � �����������' k ∈ N� detHk > 0�  �������� ��� �� ������	���
 ���������

����������!������ ����	�� (2) ��	��	� ���������
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����	����� ���
 ����	��� �� 	��� ��$	�����
����	 ��
 �����������
 ���	�	� �������
 �������� ���	�����	��
 � ���	������� �������	���
 ����
�
���
 ������� p = p(t)� t � 0� ����
 ���	����
 � �������	���
 ��������
 ������� U = U(t)� t � 0�
��� ������
 ����	�� (2) ����������	��� �������	���� ����	�	 ����
����� ���� ż = p(t)z� z ∈ R

n, t � 0�
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ẋ = A(t)x+B(t)u, x ∈ R
n, u ∈ R

m, t � 0, '	(

� �#)����# ����*$�$��&
&� � ����*$����# #*$���+���
&� ,	� �� ���- &��$�"�&� )#.//�"�0
���#% A � B. 1�&
)�! .�� �����&� �$� �#&#2� ��$�%����! u� 3�����#*# % %��� ���� �# 
#4$���# �%!3�

u = U(t)x, '�(

*�� U 5 ��)#�#$�! �3&�$�&�! � #*$���+����! (m× n)0&��$�"�� �#��+�& 3�&)����6 �����&�

ẋ = (A(t) +B(t)U(t))x, x ∈ R
n, t � 0, '7(

)#.//�"����
 )#�#$# ��)8� �#)����# ����*$�$��&
 � ����*$����# #*$���+��
�
9��#&��& ��)#�#$
� ��#4:#��&
� ��& % ������ ;�& #�$�������!�

���� �!�"#� $ '�&� ,	� �� �<�-� ,�� �� 	�7 = 	�<-(� >��� �#� �$�4$�3#%���� z = L(t)y � #4$�0
��&# �4�#�6��# ���$�$
%�# &��$�+�# /��)"�� L = L(t)� #�$�������# �� �#�#8�����0
�# �#��#�� �# 3��+���!&� %# &�#8���%� (n × n)0&��$�" � ��#%���%#$!62� ��! %��: t � 0
#"��)�

‖L(t)‖+ ‖L−1(t)‖+ sup
t�0

∫ t+1

t
‖L̇(τ)‖ dτ < ∞, '<(
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#*$���+���
&� )#.//�"�����&� ẏ = C(t)y� t � 0� � ż = D(t)z� t � 0� �%!3���
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���� �!�"#� & '�&� ,<-� ,�� �� 7��-(� >��� ��! �����&� %���

ż = p(t)z, z ∈ R
n, t � 0, '�(

�# �)��!$�# �#)����# ����*$�$��&# � ����*$����# #*$���+���# /��)"�� p = p(t)� t � 0�
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%����! �
������ ����
�	��� �
���

���� �!�"#� ' '�&� ,<-� ,�� �� 7�
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���� ���� ��! �$#�3%#���# ����$�� 3�����# �#)����# ����*$�$��&# � ����*$����# #*$�0
��+���# �� �#�#8������# �#��#�� �)��!$�# /��)"�� p = p(t)� t ∈ [0,+∞)� ��2���%���
��)#� �3&�$�&#� � #*$���+���#� &��$�+�#� ��$�%����� U = U(t)� t � 0� +�# �����&� '7( � .��&
��$�%�����& ���&��#��+��)� .)%�%������� '�# ?#*���#%�( �����&� '�(�

�()�*("#� $+ �#�)#��)� �3��+����# #�$�������! 7 � < /#$&���$#%����� ��! �����& '7(
� )��#+�#0���$�$
%�
&� � #*$���+���
&� )#.//�"�����&� � ��)�& 8� ��$�%�����& U � �#
% $�4#��: ,<- � ,�� �� 7�
- �)��!$��! /��)"�! p = p(t)� t � 0� % .��: #�$�������!: �$������8���
�$#��$����%� )��#+�#0���$�$
%�
: � #*$���+���
: �� �#�#8������# �#��#�� /��)"� �

9���+�� �%# ��%� *�#4����# �)��!$�3��&#��� � ���� �
: �����& '7( ')�) � )��#+�#0
���$�$
%�
&� � #*$���+���
&�� ��) � � �#)����# ����*$�$��&
&� � ����*$����# #*$���+��0
�
&� )#.//�"�����&�( �#3%#�!�� ����;�# $�;��� '�&�� ���$�� ,<-� ,�� �� 7�
=7<�-� ,
=		-( 3���+�
��$�%����! ,�� �� 	@�- $�3��+�
&� ���&��#��+��)�&� ��%�$�����&� ,�� �� <
=@�- �����&
 '7(�
9��#&��&� +�# ���&��#��+��)�&� '�!���#%�)�&�( ��%�$�����&� ���� �
: #��#$#��
: ��0
���& n0*# �#$!�)� ��3
%�6��! %���+��
 '�%# ��%�(� #��#�!2���! ) .��& �����&�&� )#�#$
� ��
&��!6��! �#� �� ��%��& �$�#4$�3#%��� >!���#%�� ���&��#��+��)�&� ��%�$�����&� !%�!6�0
�!� ���$�&�$� �%# ��%� ���# +�%#���� ���&��#��+��)# ���# +�%#���� �$�%����#���� �$�%#��0
&#��� � �� ��A �#��
 ���)�$ �#)�3����� >!���#%�� "���$����
�� #�#4
� � .)��#���"�����
�
�#)�3������ )#.//�"����
 ���$�%����#��� � �� ��

����� 3�/�)��$#%�� )�)# 0��4# ���&��#��+��)� ��%�$���� ι� 1���+� *�#4����#*# ��$�%0
����! .��& ���&��#��+��)�& ��%�$����#& ,�� �� 	@�- 3�)�6+����! % ��:#8����� ��)#*# �30
&�$�&#*# � #*$���+���#*# ��$�%����! '�(� +�# �����&� '7( � .��& ��$�%�����& 4���� �&���
�64#� %#3&#8�#� ����$�� 3�����#� 3��+���� .�#*# ��%�$������ ��)� ���$�&�$� $���&��$�%�!
% ����# 3���+� % )�+���%� ���&��#��+��)#*# ��%�$����� ι �#��
 ���)�$ �#)�3����� >!0
���#%�� �#��+�& ,�� �� 	@7=	@�- ������ �������	��� �������	
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��	���� �� ��
3���+� # �#��$#���� ��! �����&
 '	( #4$���# �%!3� '�(� #4����+�%�62� %
�#������ $�0
%����% λi(A + BU) = μi� i = 1, n� �$� �$#�3%#���
: 3�$���� 3�����
: %�2���%���
: +����:
μ1 � . . . � μn; 3���� λ1(A +BU) � . . . � λn(A + BU) 5 �#��
 ���)�$ �#)�3����� >!���#%�
3�&)���# �����&
 '7(� B���&��$�%�! % )�+���%� ���&��#��+��)#*# ��%�$����� �%# ��%# �$�0
%����#��� �����&
 '7(� 4���& �&��� ,�� �� 77�- ������ �������	�� ������
�����
 ����
��	���
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 � �� ��
1���+� ��$�%����! �#)�3����!&� >!���#%� � �$�*�&� ���&��#��+��)�&� :�$�)��$����)�0

&� #42�: '����$�#��+��)�:( �����"�#��$�
: ���� �
: �����& %��$%
� 4
�� �/#$&���$#%���
��>� �#�)#%
&� 1���+� ��)#*# $#��� � ��)8� 4C#��;�! +���� �3%����
: �� ��*#��!;�� ����
$�3������#%� �#��+���
: �# �: $�;���6 '%)�6+�! ��)8� � %#�$#�
 # *�#4����# �)��!$�3�0
�&#��� �����& '7((� �#��$8���! % &#�#*$�/�� ,�-�

�3��+����# 3���+� *�#4����# �)��!$�3��&#��� �3�+����� ��! �����& '7( � )��#+�#0���$�0
$
%�
&� � #*$���+���
&� )#.//�"�����&�� ��)� % $�4#�� ,<- 4
�� �����#%���� *�#4�����!
�)��!$�3��&#��� �����& '7( � )��#+�#0���$�$
%�
&� � #*$���+���
&� )#.//�"�����&� � )�0
�#+�# $�%�#&�$�# ���$�$
%�# ,�� �� �
<- &��$�"� B �$� ���#%�� $�%�#&�$�# �#��# ��$�%0
�!�&#��� ,	�� 	7- �##�%����%�62� ���� �# ��$�%�!�&# �����&
 '	(�



D �#����#+�#& ���#%�� *�#4����# �)��!$�3��&#��� ��7

���������� ��	
� �� �
� �
�� �

��! ���+�! �����&
 '7( � �#)����# ����*$�$��&
&� � ����*$����# #*$���+���
&� )#./0
/�"�����&� $�;���� 3���+� # *�#4����# �)��!$�3��&#��� % #42�& %��� �#)� �� �� ���#�
1���� �#��+��
 ��;� #������
� $�3������
� � +����#���� ���� 1� "�%
& ��! ���� �# ��0
���&
 '	( � %
;��)�3���
&� )#.//�"�����&� 4
�# �$���#8��# ,	<- �#4��%���#� #4#42����
�%# ��%� $�%�#&�$�# �#��# ��$�%�!�&#���� �� #��#%���� )#�#$#*# �& 4
�� �����#%���� ,		-
*�#4�����! �)��!$�3��&#��� �����&
 '7( � �#)����# ��&&�$��&
&� � ����*$����# #*$���+��0
�
&� )#.//�"�����&�� )#*�� �##�%����%�62�! � ���� ��! ��$�%�!�&�! �����&� '	( 4
��
�$�����%���� % /#$&� E�����4�$*�� �$#&� �#*#� ���� �#3�#%
& � ���� ��" % ������� �#)�3�0
�� *�#4�����! �)��!$�3��&#��� �%�&�$�# ���� �# �����&
 '7( � �#)����# ����*$�$��&
&�
� ����*$����# #*$���+���
&� )#.//�"�����&� �$� ���#%�� $�%�#&�$�# �#��# ��$�%�!�0
&#��� �##�%����%�62� �����&
 '	(� �#������� ��%�$8����� 4
�# �����#%���# �� #��#%����
%%�����#*# % �# 8� ������ �#�!��! $�%�#&�$�# *�#4����# )%�3��#���8�&#��� �����&
 '7(�

����� Mmn 5 �$#��$����%# %�2���%���
: &��$�" $�3&�$�#��� m × n �# ���)�$����# 
'#��$��#$�# ( �#$&# � �� �� �#$&# � ����"�$��&# �� Mmn �%)���#%
&� �#$&�&� % R

m � R
n;

Mn
.
= MnnA Rn ⊂ Mn 5 &�#8���%# %��: %�$:���$��*#���
: (n× n)0&��$�" � �#�#8������
&�

���*#�����
&� .��&����&�� ��! �64
: +���� r � 1 � 0 < ρ � 1 +�$�3 Mn(r, ρ) � Rn(r, ρ)
#4#3��+�& �##�%����%���# &�#8���%� &��$�" Mn(r, ρ) := {H ∈ Mn : ‖H − E‖ � r, detH � ρ}
� Rn(r, ρ) := {H ∈ Rn : ‖H − E‖ � r, detH � ρ}. ����� XU (t, s) ∈ Mn� t, s � 0� 5 &��$�"�
�#;� �����&
 '7( � ��$�%�����& U ; X(t, s) := X0(t, s)� t, s � 0� 5 &��$�"� �#;� �����&
 '7(
� ����%
& ��$�%�����&�

���� �!�"#� , '�&� ,FG-(� ?���& *#%#$���� +�# �����&� '7( #4������ �%# ��%#&H
	( T ����	����	�� �������	�� ����
����
�
����
 ��	��
����	� 	�����	
��		��� �	����

���� U ⊂ Mmn� ���� ��! �64
: r � 1 � 0 < ρ � 1 ��2���%��� ��)�! %���+��� θ = θ(r, ρ) > 0�
+�# ��! %�!)#*# t0 � 0 �� ����! #$�#*#������! &��$�"� F = F (t0, r, ρ) ∈ Mn� �$� )#�#$# 
��! �$#�3%#���# &��$�"
 H ∈ Rn(r, ρ) ��2���%��� �3&�$�&#� � #*$���+���#� ��$�%�����
U : [t0, t0 + T ] → U� ��#%���%#$!62�� �$� %��: t ∈ [t0, t0 + T ] #"��)� ‖U(t)‖ � θ(r, ρ) �
*�$����$�62�� ��! &��$�"
 �#;� XU (t, s) �����&
 '7( %
�#������ $�%����%�

XU (t0 + T, t0) = X(t0 + T, t0)FHF−1;

�( T ����	����	�� �������	�� ����
����
�
����
� ���� #�� T 0$�%�#&�$�# *�#4����# )%�3�0
�#���8�&� #��#�������# &�#8���%� U = MmnA
7( ���	����	�� �������	�� ����
����
�
����
� ���� #�� T 0$�%�#&�$�# *�#4����# )%�3��#0
���8�&� �$� ��)#�#$#& T > 0�

B�%�#&�$��! *�#4�����! )%�3��#���8�&#��� !%�!���! #���4�����& �%# ��%� $�%�#&�$�# 
*�#4����# �#���8�&#��� '�&� ��8� #�$�������� 
 � �$�&�$ 	(� �#������� �%# ��%# ���#��3�0
���! % $�4#��: ,<=		� 	�=��- ��! �#)�3�������%� *�#4����# ��$�%�!�&#��� $�3��+�
: ���&�0
�#��+��)�: ��%�$����#% ���� �
: �����& '7(� �$#&� �#*#� ����+�� �%# ��%� $�%�#&�$�# *�#0
4����# �#���8�&#��� � �����&
 '7( !%�!���! '�&�� ���$�&�$� ,��� ��#$�&� �-� ,�� ��#$�&� ���7-(
��)8� � �#����#+�
& ���#%��& *�#4����# ��$�%�!�&#��� �#��# �#%#)���#��� �!���#%�)�:
��%�$����#% ,��- .�# �����&
�

���� �!�"#� - '�&� ,��-� ,�� �� ��7-(� ?���& *#%#$���� +�# �����&� '7( #4������ �%# ��%#&
	( T ����	����	�� �������	�� ����
�
����
 ��	��
����	� 	�����	
��		��� �	������� U ⊂
⊂ Mmn� ���� ��! �64
: r � 1 � 0 < ρ � 1 �� ����! ��)�! %���+��� θ = θ(r, ρ) > 0, �$�
)#�#$# ��! �$#�3%#���# &��$�"
 H ∈ Mn(r, ρ) � %�!)#*# t0 � 0 ��2���%��� �3&�$�&#�
� #*$���+���#� ��$�%����� U : [t0, t0 + T ] → U� ��#%���%#$!62�� �$� %��: t ∈ [t0, t0 + T ]
#"��)� ‖U(t)‖ � θ(r, ρ) � *�$����$�62�� ��! &��$�"
 �#;� XU (t, s) �����&
 '7( %
�#������
$�%����%� XU (t0 + T, t0) = X(t0 + T, t0)H;
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 � 	�0
��	�
� �
��������
�
� ��122����
��
� 33 4�22���
���	�
�� ����
�
��& � #5& 6& 7�& ". ������'&



��< ���� �#3�#%

���������� ��	
� �� �
� �
�� �

�( T ����	����	�� �������	�� ����
�
����
� ���� #�� T 0$�%�#&�$�# *�#4����# �#���8�&�
#��#�������# &�#8���%� U = MmnA
7( ���	����	�� �������	�� ����
�
����
� ���� #�� T 0$�%�#&�$�# *�#4����# �#���8�&� �$�
��)#�#$#& T > 0�

�()�*("#� %+ 1�&���&� +�# #�$�������� 
 ���)#��)# #���+�# �# /#$&� #� .)%�%������
:
�&� #�$������� $�%�#&�$�# *�#4����# �#���8�&#���� �/#$&���$#%���
: % ,�� �� ��7- � ,��-�

�#)�8�&� +�# �%# ��%# $�%�#&�$�# *�#4����# )%�3��#���8�&#��� !%�!���! 4#��� ���0
4
& �# �$�%����6 �# �%# ��%#& $�%�#&�$�# *�#4����# �#���8�&#���� D+�%���#� �&��� &�0
��# %)�6+���� Rn(r, ρ) ⊂ Mn(r, ρ). �#.�#&� ���� �����&� '7( $�%�#&�$�# *�#4����# �#���8�0
&�� �# ��! ��� %
�#����# � �%# ��%# $�%�#&�$�# *�#4����# )%�3��#���8�&#���� ��) )�)
&#8�# %
4$��� F = E. ����$� �� )#�)$���#& �$�&�$� �4���&�!� +�# #4$���#�� %##42� *#%#$!�
��%�$�#�

��#)�� $+ B���&#�$�& ���� ��6 ��$�%�!�&�6 �����&� '	( �$� m = n = 2, A(t) ≡ 0,
B(t) ≡ E. � .�#& ���+�� 3�&)����! �����&� '7( �&��� %��

ẋ = U(t)x, x ∈ R
2, t � 0. '
(

�$���#�#8�&� +�# % �����&� '
( �3&�$�&#� � #*$���+���#� �� �#�#8������# �#��#�� ��$�%0
����� U(t) �$� )�8�#& t � 0 �$���&��� 3��+���! %# &�#8���%� U %�$:���$��*#���
: &��$�"�
�3 �$�&�$� ���� $�4#�
 ,�� �� �
�=�
7- �������� +�# �����! �����&� �� !%�!���! $�%�#&�$�#
*�#4����# �#���8�&# #��#�������# &�#8���%� U. I �$�*# ��#$#�
� % �#& 8� �$�&�$� 4
�#
��)8� �����#%���#� +�# ��! �$#�3%#���# &��$�"
 H ∈ R2(r, ρ) �� ����! ��$�%����� U ∈ U,
#4����+�%�62�� ��! &��$�"
 �#;� �����&
 '
( � .��& ��$�%�����& �$� �64#& k = 0, 1, . . .
$�%����%# XU (k+1, k) = H �� 3��+��� XU (k+1, k) = E ·H ·E−1. �#������� 8� �##��#;���� #3��0
+��� 10$�%�#&�$��6 *�#4�����6 )%�3��#���8�&#��� �����&
 '
( #��#�������# &�#8���%� U.

�3 $�3������#% ������ ,FG- '�&� ��#$�&
 	� � � ������%�� 	( %
��)���� +�# ��! �%�&�$�
: ��0
�� �
: ��//�$��"�����
: �����& '7( � �#)����# ����*$�$��&
&� � ����*$����# #*$���+��0
�
&� )#.//�"�����&� $�%�#&�$��! *�#4�����! )%�3��#���8�&#��� !%�!���! �#����#+�
&
���#%��& *�#4����# �)��!$�3��&#��� .��: �����&� D)�3
%����!� +�# ��)#� 8� ��%�$8�����
��$�%����%# � ��! �����& '7( �$#�3%#���# $�3&�$�#��� n /�3#%#*# �$#��$����%�� % +�& �
3�)�6+����! #��#%�# $�3������ ����#!2� $�4#�
� �� �� �&��� &���#

��.��)( $+ ����� �
����� '7( � ������	� 
	����
������
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�%���& ��)#�#$
� #4#3��+���!� ���#��3��&
� % ������ ;�&� ��6�� ����� 4���& �+������
+�# ��! �����&
 '7( +���# T > 0 �3 #�$�������! � $�%�#&�$�# *�#4����# )%�3��#���8�&#0
��� 3�/�)��$#%��#� �#*�� �3 �%# ��%� ����*$����# #*$���+���#��� ,	� �� ���- &��$�" A � B
%
��)��� ��2���%#%���� ��)�: %�2���%���
: +���� a, b � 1, +�# ��! %��: t � 0 %
�#��!6��!

#"��)�

∫ t+T

t
‖A(τ)‖ dτ � a < +∞,

∫ t+T

t
‖B(τ)‖ dτ � b < +∞. 1�/�)��$��& ��)8� +���� a � b.

�()�*("#� &+ �$�&��!! ��&&� J$#��#���=?���&��� ,�� �� 	�@ = 	��-� � ��)8� #�$��������
%���+��
 a, ���$���# �����#%���� +�# �$� �64
: t, s � 0 ��)�:� +�# |t− s| � T, ��! &��$�"

�#;� X(t, s) %
�#��!���! #"��)�

‖X(t, s)‖ � exp(a). '�(

�$�8�� +�& ��$�:#���� ) �#)�3�������%� #��#%�# ��#$�&
� �����#%�& �����62�6 ��&&��



D �#����#+�#& ���#%�� *�#4����# �)��!$�3��&#��� ���

���������� ��	
� �� �
� �
�� �

��))( $+ "��
 �
����� '7( ���	����	� �������	� ����
����
�
��# �� ��
 �$��% �
���%

r � 1, 0 < ρ � 1 
 k ∈ N ��&�����$� ���
� ������	���	�� ����
�� Fk = F ((k − 1)T, r, ρ) ∈
∈ Mn, ���# ������ �� 	
 ���� �������������	���� ����
� {Hk}k∈N ∈ Rn(r, ρ)# 	������



����
��� 
 ����	
��		�� �������	
� U = U(t), t ∈ [0,+∞), ��
 ������� ��
 ��
���� k ∈ N

�����	
$��
 ����	���� XU (kT, (k − 1)T ) = X(kT, (k − 1)T )FkHkF
−1
k .

� # ) � 3 � � � � � � � % #� �#3�&�& �$#�3%#���
� +���� r � 1 � 0 < ρ � 1. �#�)#��)� �����0
&� '7( #4������ �%# ��%#& $�%�#&�$�# *�#4����# )%�3��#���8�&#���� �# ��! %�!)#*# k ∈ N

�#��$#�& #$�#*#�����
� (n × n)0&��$�"
 Fk := F ((k − 1)T, r, ρ) � ��! �64# /�)��$#%���# 
�#����#%������#��� &��$�" {Hk} k∈N ∈ Rn(r, ρ) �� ��& �3&�$�&
� � #*$���+���
� &��$�+�
�
��$�%����! Uk = Uk(t), t ∈ [(k − 1)T, kT ], ��#%���%#$!62�� #"��)� ‖Uk(t)‖ � θ(r, ρ) = θ, �$�
)#�#$
: %
�#��!���! $�%����%# XUk

(kT, (k − 1)T ) = X(kT, (k − 1)T )FkHkF
−1
k . �#�#8�&

U(t) ≡ Uk(t) �$� %��: t ∈ [(k − 1)T, kT ), k ∈ N. � ���� �3&�$�&#��� � #*$���+���#���
��$�%���� Uk �� �%#�: #4����!: #�$�������!� %
4$���#� &��$�+�#� ��$�%����� U ��)8�
�3&�$�&# � #*$���+��# �$� %��: t � 0, �$�+�& ��! �64#*# k ∈ N � t ∈ [(k − 1)T, kT ] ��$�0
%����%� $�%�#&�$��! �# k ∈ N #"��)� ‖U(t)‖ = ‖Uk(t)‖ � θ. �$#&� �#*#� ��! &��$�"

�#;� �����&
 '7( � %
4$���
& ��$�%�����& U �$� )�8�#& k ∈ N %
�#��!���! $�%����%#
XU (kT, (k − 1)T ) = XUk

(kT, (k − 1)T ) = X(kT, (k − 1)T )FkHkF
−1
k . >�&&� 	 �#)�3���� �

� # ) � 3 � � � � � � � % # � � # $ �&
 	 4���& �$#%#���� % �##�%����%�� � �#�:#�#&� #��0
����
& % $�4#��: ,<-� ,�� �� 7�� = 7�@-� ,FG-� ����� �����&� '7( #4������ �%# ��%#& $�%�#&�$0
�# *�#4����# )%�3��#���8�&#���� �#3�&�& �64�6 �#)����# ����*$�$��&�6 � ����*$����#

#*$���+����6 �)��!$��6 /��)"�6 p : [0,+∞) → R. ����� p := sup{
∫ t+T

t
|p(τ)| dτ, t � 0}.

�#�#8�& ρ := exp(−n(p + a)) � r := 1 + exp(p + a). �#*�� % ���� #+�%���
: ��$�%����%
p � 0 � a � 1, %
��)�62�: �3 #�$�������! %���+�� a � p, %
�#��!6��! �##��#;���!
r � 1 � 0 < ρ � 1. 9� #��#%���� ��&&
 	 ��! %�!)#*# ����$����#*# +���� k �� ����! ��0
)�� #$�#*#�����
� &��$�"
 Fk := F ((k − 1)T, r, ρ) ∈ Mn, +�# ��! �64# �#����#%������#0
��� &��$�" {Hk}k∈N ⊂ Rn(r, ρ) ��2���%��� �3&�$�&#� � #*$���+���#� ��$�%����� U = U(t),
t ∈ [0,+∞), #4����+�%�62�� ��! &��$�"
 �#;� XU (t, s) �����&
 '7( � .��& ��$�%�����&
$�%����%� XU (kT, (k − 1)T ) = X(kT, (k − 1)T )FkHkF

−1
k �$� %��: k ∈ N.

��! #�$�������
: %
;� +���� r � 1 � 0 < ρ � 1 �$#�3%���& %
4#$ �#����#%������#���
&��$�" {Hk}k∈N ⊂ Rn(r, ρ). �# ��#$�&� # QR0$�3�#8���� ,�7� �� 	7�-� �$� %�!)#& k ∈ N ��!
#4$���&# &��$�"
 (F−1

k+1 ·X(kT, (k−1)T )·Fk) ∈ Mn �� ����! #$�#*#������! &��$�"� Qk ∈ Mn

� %�$:�!! �$��*#����! &��$�"� Rk ∈ Mn � �#�#8������
&� ���*#�����
&� .��&����&� ��)���
+�# %
�#��!���! $�%����%# F−1

k+1 ·X(kT, (k−1)T )·Fk = QkRk, �3 )#�#$#*# �����6� �##��#;���!

X(kT, (k − 1)T )FkR
−1
k F−1

k = Fk+1QkF
−1
k � Rk = Q−1

k F−1
k+1X(kT, (k − 1)T )Fk. D��6��� %%���

/#$&��
 '�( 3�&�+���! 7� #$�#*#�����#��� &��$�" Fk � Qk, � ��)8� %�$:���$��*#���#���

&��$�" R±1
k , k = 1, 2, . . . , �$� %�!)#& k ∈ N ��! &#���� ���*#�����
: .��&���#% r

(k)
ii � 1/r

(k)
ii ,

i = 1, n, �##�%����%���# &��$�" Rk � R−1
k �#��+�& �� 3�%��!2�� #� k #"��)�

|r(k)ii | � ‖Rk‖ � ‖Q−1
k ‖ · ‖F−1

k+1‖ · ‖X(kT, (k − 1)T )‖ · ‖Fk‖ � exp(a),

|1/r(k)ii | � ‖R−1
k ‖ � ‖Qk‖ · ‖Fk+1‖ · ‖X((k − 1)T, kT )‖ · ‖F−1

k ‖ � exp(a), '@(

�� %%��� �#�#8������#��� .��: .��&���#%� exp(−a) � 1/r
(k)
ii � exp(a). �#*��� �$�&��!! %�$:0

���$��*#���#��� &��$�" R−1
k � k ∈ N, ��! %�!)#*# k ∈ N �&��& �##��#;���!

detR−1
k =

∏n

i=1
(r

(k)
ii )−1 � exp(−na). '�(

�$� �64
: s, t � 0 #4#3��+�& +�$�3 ϕ(t, s) /��)"�6 ϕ(t, s) := exp

∫ t

s
p(τ) dτ. �#*�� ��!

/��)"�� ϕ(t, s) �$� %��: t, s � 0 %
�#��!6��! �##��#;���! ϕ(t, s) = ϕ−1(s, t), ϕ(t, s) = ϕ(t, τ)·
·ϕ(τ, s) � ��$�%����%# exp(−p) � ϕ(kT, (k − 1)T ) � exp(p), %�$�#� �$� %�!)#& k ∈ N.



��
 ���� �#3�#%

���������� ��	
� �� �
� �
�� �

�$� )�8�#& k = 1, 2, . . . #�$�����& &��$�"
 Hk ∈ Mn, �#��*�! Hk := ϕ(kT, (k − 1)T ) ·R−1
k

��! %��: k ∈ N. �#*��� % ���� #�$�������! �#����#%������#��� &��$�" {R−1
k }∞k=1 � #+�%���# 

�#�#8������#��� /��)"�� ϕ(t, s), t, s � 0, �$� %�!)#& k ∈ N &��$�"� Hk ∈ Mn 5 %�$:�!! �$�0
�*#����! � �#�#8������
&� ���*#�����
&� .��&����&�� �$�+�&� %%��� ��$�%����% '@( � '�(�
� ��)8� �%# ��% /��)"�� ϕ(t, s), ��! �� �#$&
 ‖Hk‖ � #�$��������! detHk �#��+�& �� 3�%�0
�!2�� #� k ∈ N #"��)�

‖Hk − E‖ � 1 + ‖Hk‖ � 1 + ϕ(kT, (k − 1)T ) · ‖R−1
k ‖ � 1 + exp(p) · exp(a) = 1 + exp(p+ a) = r,

detHk = det(ϕ(kT, (k − 1)T ) · R−1
k ) = (ϕ(kT, (k − 1)T ))n · detR−1

k �
� exp(−np) · exp(−na) = exp(−n(a+ p)) = ρ,

)#�#$
� �#)�3
%�6�� +�# %
4$����! �#����#%������#��� &��$�" Hk ∈ Mn, k ∈ N, �$������8��
&�#8���%� &��$�"Rn(r, ρ) � �#.�#&� ��#%���%#$!�� ���#%�!& ��&&
 	� �#*�� ��2���%��� ��)#�
�3&�$�&#� � #*$���+���#� ��$�%����� U = U(t), t ∈ [0,+∞), #4����+�%�62�� �$� %��: k ∈ N

��! &��$�"
 �#;� XU (t, s) �����&
 '7( � .��& ��$�%�����& $�%����%�

XU (kT, (k − 1)T ) = X(kT, (k − 1)T ) · Fk ·Hk · F−1
k =

= ϕ(kT, (k − 1)T ) ·X(kT, (k − 1)T ) · Fk · R−1
k · F−1

k =

= ϕ(kT, (k − 1)T ) · Fk+1 ·Qk · F−1
k .

�$� %�!)#& s = 1, . . . , k ��$�&�#8�! &��$�"
 �#;� XU (sT, (s− 1)T ), �#��+�& $�%����%�

XU (kT, 0) = XU (kT, (k − 1)T ) ·XU ((k − 1)T, (k − 2)T ) · . . . ·XU (T, 0) =

= ϕ(kT, (k − 1)T ) · ϕ((k − 1)T, (k − 2)T ) · . . . · ϕ(T, 0) ·
· (Fk+1QkF

−1
k ) · (FkQk−1F

−1
k−1) · . . . · (F2Q1F

−1
1 ) =

= ϕ(kT, 0) · Fk+1 ·Qk ·Qk−1 · . . . ·Q1 · F−1
1 =: ϕ(kT, 0) · Q̃k.

1���� &��$�"� Q̃k !%�!���! #$�#*#�����# � �#�)#��)� �$�����%�!�� �#4# �$#�3%������ #$�#0
*#�����
: &��$�"�

�����#%�&� +�# �$� %�!)#& t � 0 &��$�+��! /��)"�! L(t) := ϕ(0, t)XU (t, 0) !%�!���! &��$�0
"� >!���#%� ,	� �� �<�-� �� �� #�� !%�!���! ��)# �4�#�6��# ���$�$
%�# &��$�+�# /��)"�� �
��! )#�#$# %
�#��!���! ��$�%����%# '<(� �#�)#��)� ϕ(0, t) � XU (t, 0) !%�!6��! �$� %��: t � 0
�4�#�6��# ���$�$
%�
&� /��)"�!&�� �# #+�%���#� +�# � /��)"�! L(t), t � 0, !%�!���! �4�#0
�6��# ���$�$
%�# )�) �$#�3%������ �4�#�6��# ���$�$
%�
: /��)"� � D����#�� �#)�3����
+�# ��! /��)"�� L(t) �$� �64#& t � 0 �&��� &���# ��$�%����%# '<(� �#�)#��)� U = U(t) 5
#*$���+����! ��! %��: t � 0 &��$�+��! /��)"�!� �# ��2���%��� %���+��� θ > 0, �$� )#�#$# 
��$�%����%� #"��)� ‖U(t)‖ � θ, t ∈ [0,+∞). ��! )�8�#*# k ∈ N � %��: t ∈ [(k− 1)T, kT ], %%���
#�$������� &��$�"
 �#;� XU (t, s), /��)"�� ϕ(t, s), %���+�� a, b, p, θ, � ��)8� #$�#*#�����#0
��� &��$�" Q̃±1

k , %
�#��!6��! �##��#;���!

‖L(t)‖ = ‖ϕ(0, t) ·XU (t, kT ) ·XU (kT, 0)‖ � |ϕ(0, t)| · ‖XU (t, kT )‖ · ‖XU (kT, 0)‖ �

� |ϕ(0, kT )| · |ϕ(kT, t)| · exp
(∫ t

kT
‖A(τ) +B(τ)U(τ)‖ dτ

)
· |ϕ(kT, 0)| · ‖Q̃k‖ �

� |ϕ(kT, t)| · exp
(∫ kT

(k−1)T
‖A(τ)‖ + ‖B(τ)‖ ‖U(τ)‖ dτ

)
· 1 �

� ϕ(kT, (k − 1)T ) · exp
(
a+ θ ·

∫ kT

(k−1)T
‖B(τ)‖ dτ

)
� exp(p+ a+ bθ) =: l < +∞, '	�(

‖L−1(t)‖ = ‖ϕ(t, 0) ·XU (0, kT ) ·XU (kT, t)‖ �
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���������� ��	
� �� �
� �
�� �

� |ϕ(t, 0)| · |ϕ(0, kT )| · ‖Q̃−1
k ‖ · ‖XU (kT, t)‖ � |ϕ(t, kT )| · 1 · ‖XU (kT, t)‖ �

� ϕ(kT, kT ) · exp(a+ bθ) = exp(a+ bθ) � l < +∞. '		(

�%��� #�$�������! +���� T �� ����! q ∈ N, �$� )#�#$#& %
�#��!���! ��$�%����%# qT � 1.
1�/�)��$��& ��)#� q. 9� #��#%���� #�$�������! &��$�"
 �#;� XU (t, s) � /��)"�� ϕ(t, s),
t, s � 0, �&�6� &���# $�%����%�

L̇(t) = ϕ(0, t)ẊU (t, 0) + ϕ̇(0, t)XU (t, 0) = (A(t) +B(t)U(t)− p(t)E)L(t),

�3 )#�#$
: %%��� #�$������� %���+�� T, a, b, θ, p � l �#��+�& #"��)�

sup
t�0

∫ t+1

t
‖L̇(τ)‖ dτ = sup

t�0

∫ t+1

t
‖(A(τ) +B(τ)U(τ)− p(τ)E)L(τ)‖ dτ �

� sup
t�0

∫ t+qT

t
‖(A(τ) +B(τ)U(τ)− p(τ)E)L(τ)‖ dτ �

� q · sup
t�0

∫ t+T

t
‖(A(τ) +B(τ)U(τ)− p(τ)E)L(τ)‖ dτ �

� q · l ·
(
sup
t�0

∫ t+T

t
‖(A(τ)‖ dτ + sup

t�0

∫ t+T

t
‖B(τ)‖ · ‖U(τ)‖ dτ+

+sup
t�0

∫ t+T

t
(|p(τ)| · ‖E‖) dτ

)
� (a+ bθ + p)ql < +∞,

������%��%�62�� ����*$�����6 #*$���+���#��� ‖L̇(t)‖ ��! �64
: t ∈ [0,+∞). �#*�� �3 �#0
������: #"��#)� � ��)8� /#$&�� '	�( � '		( ������� %
�#������ ��$�%����%� '<(� �#.�#&�
�4�#�6��# ���$�$
%��! /��)"�! L(t) = ϕ(0, t)XU (t, 0) !%�!���! &��$�"� >!���#%��

�$�&���& �!���#%�)#� �$�#4$�3#%���� x = L(t)z ) �����&� '7( � �� ����
& ��$�%�����&
U = U(t), t ∈ [0,+∞). �#*�� ��$�%����%
 �##��#;���!

ż = (L−1(t)x)· = −L−1(t)L̇(t)L−1(t)x+ L−1(t)ẋ =

= −L−1(t)(ϕ̇(0, t) ·XU (t, 0) + ϕ(0, t) · ẊU (t, 0))L
−1(t)x+ L−1(t)ẋ =

= −L−1(t)(−p(t)ϕ(0, t) ·XU (t, 0) + ϕ(0, t) · (A(t) +B(t)U(t))XU (t, 0))L
−1(t)x+ L−1(t)ẋ =

= −L−1(t)(A(t) +B(t)U(t)− p(t)E) · (ϕ(0, t) ·XU (t, 0)) · L−1(t)x+ L−1(t)ẋ =

= −L−1(t)(A(t) +B(t)U(t)− p(t)E)x + L−1(t)(A(t) +B(t)U(t))x =

= L−1(t)p(t)x = p(t)L−1(t)x = p(t)z,

)#�#$
� �#)�3
%�6� ���&��#��+��)�6 .)%�%������#��� �����&
 '7( � �� ����
& ��$�%����0
�& U � �)��!$�# �����&
 '�( � ����$�� 3�����# �#)����# ����*$�$��&# � ����*$����#
#*$���+���# /��)"�� p = p(t), t � 0. ��#$�&� 	 �#)�3���� �

�$�&��!! ��#$�&� ��! ���+�! p(t) ≡ 0, t ∈ [0,+∞), �����#%�& �����62�� ��%�$8������

�!� /01#� $+ "��
 �
����� '7( � ������	� 
	����
������
 
 
	�������	� ����	
��		��

�
 �����
�
�	���
 �������� ��������� ���	����	�� �������	�� ����
����
�
����
# ��

��&������� ����� 
����
��� 
 ����	
��		�� �������	
� U : [0,+∞] → Mn# ��� �
����� '7(
� ��
� �������	
�� ��
�����
����
 ���
����	�	� �
����� � 	������ ������ �����$# � � 

�
����� �
��

ẏ = 0, y ∈ R
n, t � 0.
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��
�����( UNV_T[ cYVZ[YU r`rZ_5� p`Tb]VY4 _ibYV_VZr� sUY\TU rcTUT[NtT\NUNZ �̀

gfL( 1H*.7� 1Hv.0� G1L-0

w_ cYVrNe_[ T UNV_T[ ZN5_�4T[`NVs cYVZ[YU r`rZ_5 xNZ^ UYcTUU` NVZ_s[T\U_ TVe NVZ_s[TUU` \Y]Ve_e cY_ycN_VZr

ẋ = A(t)x +B(t)u, x ∈ R
n, u ∈ R

m, t � 0. (1)

w_ cYVrZ[]cZ cYVZ[YU Ya Z^_ r`rZ_5 (1) Tr T UNV_T[ a__e\Tch u = U(t)x xNZ^ 5_Tr][T\U_ TVe \Y]Ve_e a]VcZNYV
U(t)� t � 0� zY[ Z^_ cUYr_e�UYYb r`rZ_5

ẋ = (A(t) +B(t)U(t))x, x ∈ R
n, t � 0, (2)

T e_{VNZNYV Ya ]VNaY[5 sUY\TU |]TrN�TZZTNVT\NUNZ` Nr NVZ[Ye]c_e� o^Nr VYZNYV Nr T x_Th_VNVs Ya Z^_ b[Yb_[Z`
Ya ]VNaY[5 sUY\TU TZZTNVT\NUNZ �̀ o^_ UTrZ b[Yb_[Z` 5_TVr _iNrZ_Vc_ Ya 5TZ[Ni U(t)� t � 0� _Vr][NVs _|]TUNZN_r
XU ((k + 1)T, kT ) = Hk aY[ Z^_ rZTZ_�Z[TVrNZNYV 5TZ[Ni XU (t, s) Ya Z^_ r`rZ_5 l/m xNZ^ {i_e T > 0 TVe
T[\NZ[T[` k ∈ N� detHk > 0� w_ b[Y4_ Z^TZ ]VNaY[5 sUY\TU |]TrN�TZZTNVT\NUNZ` N5bUN_r sUY\TU rcTUT[NtT\NUNZ �̀
o^_ UTrZ b[Yb_[Z` 5_TVr Z^TZ aY[ TV` sN4_V UYcTUU` NVZ_s[T\U_ TVe NVZ_s[TUU` \Y]Ve_e rcTUT[ a]VcZNYV p = p(t)�
t � 0� Z^_[_ _iNrZr T 5_Tr][T\U_ TVe \Y]Ve_e a]VcZNYV U = U(t)� t � 0� x^Nc^ _Vr][_r Tr`5bZYZNc _|]N4TU_Vc_
Ya Z^_ r`rZ_5 (2) TVe Z^_ r`rZ_5 Ya rcTUT[ Z`b_ ż = p(t)z� z ∈ R

n� t � 0�

WXzXWX}LXf

-� d`UY4 d�z�� jNVYs[Te W�X�� ~[Y\5TV *�g�� }_5`ZrhNN j�j� �����
� ����������� �
������� � �� �������� 

��
� � �������! �����"������� lo^_Y[` Ya p`Tb]VY4 _ibYV_VZr TVe NZr TbbUNcTZNYV ZY b[Y\U_5r Ya rZT\NUNZ`m�
gYrcYx( }T]hT� -G66� 026 b�

/� *_5NeY4Nc^ d�k� ������� �� !���!���"������ ������ �����"������� lp_cZ][_r YV Z^_ 5TZ^_5TZNcTU rZT\NUNZ`
Z^_Y[`m� gYrcYx( gYrcYx fZTZ_ qVN4_[rNZ �̀ -GG.� 6/H b�

1� dYseTVY4 �]�f� �\Y]Z Z^_ Tr`5bZYZNcTUU` _|]N4TU_VZ UNV_T[ eN�_[_VZNTU r`rZ_5r� #�$��% &����%� -G60�
4YU� -� VY� 6� bb� 2.2K2-6 lNV W]rrNTVm�

H� kYbY4T f�}� ~UY\TU [_e]cN\NUNZ` Ya UNV_T[ cYVZ[YU r`rZ_5r ZY r`rZ_5r Ya rcTUT[ Z`b_� #�$�������� '(��������
/..H� 4YU� H.� VY� -� bb� H1KHG�

0� gThT[Y4 X�S�� kYbY4T f�}� &�����
��!���) ���!�����"������� ����������� �������������
�� ������
��

�����! lLYVZ[YUUT\NUNZ` Ya Tr`5bZYZNc NV4T[NTVZr Ya VYV�rZTZNYVT[` UNV_T[ r`rZ_5rm� gNVrh( d_UT[]r�
}T4]hT� /.-/� H.2 b�

6� kYbY4T f�}� +V sUY\TU cYVZ[YUUT\NUNZ` Ya Z^_ p`Tb]VY4 _ibYV_VZr aY[ UNV_T[ r`rZ_5r� #�$��������

'(�������� /..2� 4YU� H1� VY� 7� bb� -.2/K-.27�
2� kYbY4T f�}� ~UY\TU cYVZ[YUUT\NUNZ` Ya Z^_ cY5bU_Z_ r_Z Ya p`Tb]VY4 NV4T[NTVZr Ya b_[NYeNc r`rZ_5r�

#�$�������� '(�������� /..1� 4YU� 1G� VY� -/� bb� -2-1K-2/1�
7� SYtUY4 ����� gThT[Y4 X�S� +V Z^_ cYVZ[YU Ya p`Tb]VY4 _ibYV_VZr Ya UNV_T[ r`rZ_5r NV Z^_ VYV�e_s_V_[TZ_
cTr_� #�$�������� '(�������� /..2� 4YU� H1� VY� 0� bb� 616K6H/�

G� SYtUY4 ���� � cYVZ[YU b[Yc_e][_ aY[ ZYZTU r_Z Ya p`Tb]VY4 NV4T[NTVZr aY[ UNV_T[ r`rZ_5r NV VYVe_s_V_[TZ_
cTr_� ����
 *���% +��%� /..2� 4YU� -0� VY� /� bb� 11K12 lNV W]rrNTVm�

-.� SYtUY4 ����� ,VZr ,�j�� d][Th ��*� ~UY\TU cYVZ[YUUT\NUNZ` Ya T r_bT[TZ_ Tr`5bZYZNc NV4T[NTVZr Ya ZxY�
eN5_VrNYVTU UNV_T[ r`rZ_5r xNZ^ UYcTUU` NVZ_s[T\U_ cY_ycN_VZr� ,����� -���% .���% -���� /�������0 1��%

2��% +��% -����0 1����%� /.-H� bb� 12KH0 lNV W]rrNTVm�
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--� �TNZr_4 j��� qVNaY[5 cY5bU_Z_ cYVZ[YUUT\NUNZ` TVe sUY\TU cYVZ[YU Y4_[ Tr`5bZYZNc NV4T[NTVZr Ya UNV_T[
r`rZ_5r NV Z^_ v_rr_V\_[s aY[5� ,����% &�!���% &���% +��% +���% ��!�)
��% -����� /.-0� 4YU� /0�
VY� 1� bb� 1-7K112 lNV W]rrNTVm�

-/� STU5TV W�X� LYVZ[N\]ZNYV ZY Z^_ Z^_Y[` Ya YbZN5TU cYVZ[YU� /������ �� �� 1�"����� +���!����� +�3�"����
-G6.� 4YU� 0� VY� -� bb� -./K--G�

-1� oYVhY4 X�p� � c[NZ_[NYV aY[ ]VNaY[5 cYVZ[YUUT\NUNZ` TVe rZT\NUNtTZNYV Ya T UNV_T[ [_c][[_VZ r`rZ_5� #�$��%

&����%� -G2G� 4YU� -0� VY� -.� bb� -7.HK-7-1 lNV W]rrNTVm�
-H� �TNZr_4 j��� L[NZ_[NT aY[ ]VNaY[5 cY5bU_Z_ cYVZ[YUUT\NUNZ` Ya UNV_T[ r`rZ_5r� ,����% &�!���% &���% +��%
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